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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank, Then
mark the correct choice on your answer sheet.

1- This evening's meeting is one in which important issues would be discussed; your
attendance is -——------- L
1) obligatory 2y didactic 3) relevant 4) explicit

2-  After a long -—---— -— hetween the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4) hesitation

3- In Australia, animals are reared on crop residue. Without the animals, these residues
would have to be --——---- by other means before another crop can be grown—often by
burning.
1) deprived of 2) disposed of 3) resorted to 4) alluded to

4-  Unable to ----——-- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2} acclaim 3) bear 4} treat

5- Why do some animals, such as humans, ----——-- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2) snore 3) setup 4) lie down

6-  With sixteen victories in a row, the Australian cricket team was looking quite unassailable,
but they were finally ----- --—— at the hands of the Indians.
1) dispersed 2) vanguished 3) conlronted 4) disregarded

7-  The saleshoy tried to persuade the old man to buy goods from him, but had to give up
when the old man told him —---—-— that he would not buy anything from him.
1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

8-  But he had become ————---— to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4} affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
------- in his decisions during his career.
1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- 1 don't have any explanation for his --—==----- behavior at last night's party, though I'm
sure that he is quite apologetic about it,
1) credible 2) resolute 3) distinct 4) bizarre

| PART B: Cloze Passage

| Dircctions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on vour answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?
And why can that be (11) - anyway? A complete understanding isn’t here vel,
(12) ==-------- neuroscientists are already on the trail of (13) --==---—-- . They also have some
good news for each of us (14) -----—--- to ignite those inventive fires. As it turns out.
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(15) ===-=----- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choiee

(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

17-

18-

19-

PASSAGE 1:

The first weather satellite went into space in 1959. Now many satellites circle Earth.
They take images that can help predict a storm's path. Today. some scientists race toward
twisters. They set up radar to get data from inside the funnel. Pilots fly into storms to
take measurements. More than 50,000 weather stations around the world share climate
data. Having all of this information has led to major advances in our understanding of
weather. With better predictions, fewer lives are lost. We get warnings of blizzards.
hurricanes, and tornadoes. We have a good idea of when and where they will strike. so
we can get out of their way. For that, we can thank the weather scientists.

According to the passage, many satellites circle earth in order to -—-----——--— ;
1) communicate with other planets 2) predict the storm’s path

3) take a photo from Earth 4) set up a radar

Pilots fly into storms in order o ——-—------ -,

1) take a photo

2) take measurements

3) get data for prediction of a blizzard

4) get data from ground stations

There are more than 50,000 weather stations around the world ----eeae--- -—

1) for sharing data about weather

2) for searching life in space

3) for sharing information about satellites

4) for searching information about weather scientists

We can thank the weather scientists, because they --——---n--- -,

1) think about weather

2) help us with our daily activities

3) help us to have safe traveling

4) help us to get warning of blizzards, hurricanes, and tornadoes
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20-

21-

22-

23-

25-

Scientists get data from inside the funnel by--——-—-—--—--,

1) sharing climate data 2) setting up a radar

3) setting up a thermometer 4) flying into the funnel
PASSAGE 2:

Our atmosphere prevents some of the radiation emitted by the Earth's surface from
escaping into space. Certain gases in our atmosphere called greenhouse gases. among
them water vapor and carbon dioxide, are transparent to visible light but not to infrared
radiation. Consequently. visible sunlight has no trouble entering our atmosphere and
warming the surface. But the infrared radiation coming from the heated surface is
partially trapped by the atmosphere, thus raising the temperatures of both the atmosphere
and the surface. As the surface and atmosphere become hotter. they both emit more
infrared radiation, part of which is able to escape into to space. The temperature levels
oft when the amount of infrared energy that escapes just balances the amount of solar
energy reaching the surface. The result is that our planet's surface is some 33°C (59°F)
warmer than it would be without the greenhouse effect. and water remains unfrozen over
muost of the Earth.

The greenhouse effect influences the-—--———-— :

1) temperature of the sun

2y amount of carbon dioxide

3) temperature of the atmosphere

4) amount of energy that we receive from the sun

Without the greenhouse effect ----——-o- -

1) life is safe

2) all water converts to vapor

3) water remains frozen over most of the earth

4) water remains unfrozen over most of the earth

Which of the following statements is true?

1) The infrared radiation totally escapes into space.

2) The greenhouse effect is very dangerous to life.

3) The greenhouse gases include a mixture of oxyegen and nitrogen.

4) The inlrared radiation coming from the heated surface is partially trapped by
the atmosphere.

As the surface and atmosphere become hotter, -------—-—----,

1) they both emit more infrared radiation

2) they both emit more visible radiation

3) they both emit less infrared radiation

4) the surface emits more infrared radiation. but atmosphere emits more visible radiation

Greenhouse gases prevent ——---—-——---—,

1) the escape of infrared radiation into space

2) the escape of visible light

3) the escape of X-ray

4) radio waves
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27-

18-

29-

30-

PASSAGE 3:

Above about 100 km, in the ionosphere. the atmosphere is significantly ionized by the
high-energy portion of the Sun's radiation spectrum. which breaks down molecules into
atoms and atoms into ions. The degree of ionization increases with altitude. The
presence of many free electrons makes this region of the upper atmosphere a good
conductor of electricity. and the conductivity renders the ionosphere highly reflective to
certain radio wavelengths. The reason that AM radio stations can be heard well bevond
the horizon is that their signals bounce off the ionosphere before reaching a receiver.
FM signals Camelot be received from stations over the horizon, however, because the
ionosphere is transparent to the somewhat shorter wavelengths of radio waves in the FM
band.

The presence of many free electrons make the ionosphere -—-------—----

1) a good convection layer 2) a good conductor of hcat

3) a good conductor of electricity 4} a good nonconductor of electricity
The ionosphere is highly reflective to ———-——--,

1) visible light 2) infrared radiation

3) ultraviolet radiation 4) certain radio wavelengths

The reason that AM radio stations can be heard beyond the horizon is that

e ——— -

1) the atmosphere becomes hotter

2) their signals bounce off the ionosphere

3) the ionosphere is transparent for AM band

4) the power of AM signal is strong

Molecules break down into atoms and atoms into ions by the ——eeeeeeeeeeea :
1) visible radiation of the sun

2) infrared radiation coming from the sun

3) high energy portion of the sun’s radiation

4) low energy portion of the sun’s radiation

The degree of ionization -------=-==--- .

1) increases with altitude 2) decreases with altitude

3) 1s independent of the altitude 4) is dependent on the radio wavelengths
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